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(D3 £ e 6 AT b o (B)peag aFAAS h (O

Fohed250:0011991 42 :0 35 B : %

(B ) 97 FHIEF S Fees v RMP- L5185 L K27
(A)%ﬁ%ﬂ?&é?fj&*‘r"i'&? TS - X 2SI s (B) AR g wﬁﬂ* T
WoE s BV R 2 (0)F E R PR E BT f SR g b D
o

4o 82%.:0011992 s .0 2% B 2
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(B ) 98 TP F s 5 S adedeinat, LK SLE I 1 A L Ao
(DE 2 3 BE28e (OBE 2B AR
B e %8%.:0011993 48 :0 24 B 4

(A) 9 FF2 ?f%ﬁ*\i‘w? dagt AR R e Ol E R, i 4| B el
(AP A & el (B)fede sngh £ mizh 3] (O3 Tipor id dhing & 5 @

RASAEE: 0011994 000 #d & -
(C ) 100 PV iR 4 ol didn B2 R SRR 6 AR 0
O SNOEE NOEES 30
RASATEL 0011995 ALe:0 #r % & 2
CA D W0LSRIE | e g &, B2 T30, 2 s 0 sk RS IRIEIE B 2 b el L7
(AD#ags 4 B (B)sng (C)Eﬁwg

B heAE3E: 0011996 A%:0 ¥4 A b
(B ) 102 2R (crewmember) % & 5 @9
(DR # 70 et (7 F, fona i 24l (B)# 79 atdpinizizht (O &
kg E A B, R 6 e R R A B AR

B4 X8 50:0011997 g0 s &0 5

(A ) 103 e il R Jzﬁ;g B fBiY BE R RagifomiRsd RS T BEF F P2 R
(A)Frfs fEfug v P (B)'i PR, A ?T*g-‘ﬂ%z‘%ﬂ‘*? OmgHlzEEp, g2 “Txi‘
kR pE

B4 k855 :0011998 4200 2% B : %
(C ) 104 P M FRERANSUS A FE SR ? | 0§ H{ AR RT BERFFIHL?
(A)ARINC (B)Any FSS (C)Appropriate dispatch office
B4 %8%55:0011999 42 2.0 ¥4 B ;¥
(B ) 105 {7 dhrife @ Sk 4 5034 4o 0 Fe prjd §° 2 J2 00
(D s B F 4t B S 4t B (O ME A T 4o
F4e%855:0012000 482:0 ¥ % B o7
(A ) 106 FdFFTH AL ZRH e cnFRT, S $F o e LT )a 20 M
MEFI PR EEgS L ey BEFIH I EF L IR OBFIEEY LT
T H A
B4 48%55:0012001 48520 3% B 5
(A ) 07T 4@ BB P L s ZRBR Y PREAAS REFF?

(MDEm ¥z 3Tk (BEFNFRZERB T FEFTF RE RE (C)f
TRErEAEEE ] W AR N R vk H AR L e A R

B 485000012002 4220 5% B 5

(B ) 108 B3I F & b @i o Loephl L gf 4 7 a8 5 20
(A)ichnz @i > 50% (B)fe= fhiv i 50"/'1* (C)#fls =+ F cfhic & > 50%

J 32 %0:0012003 4220 ¥ % & : % (R20180206)
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(A ) 109 3&&LP & * (o fEAR B Ay 1@ o e B TBBL R 4R B D R
(A)7E R P 4o iz i o (B) B b PO 4oz o (C)7E R PO 4o 4B R, & B BF
g R

J e AE%50: 0012004 f2ke:0 sk &k
(B ) 110 4§ @3 2| gLin, k% * W AR T
(D iFRFig 3 & B)FFrpHLHL E (OFRFIPHTTERL F A

F4e4855:0012005 4520 3% B : %
(C ) 11 3R P Fra gl o PRl e # L7
(Dsgping (B)Ag4nf (O %
F4e48%5.:0012006 4220 2% R ;%
(A ) 112 PPFE & 5 A28 %352
(M F A § FREA Sz e 8% (B)F A Bkt § 538 & ETDp i3
G F R R (C)F P he 35X § FiR @z 3 2 VFR#E# (ceiling less than
3,000 feet and visibility less than 5 SM)

B b2 50:0012007 2.0 2% & %
(A ) 113 PfX F Fmricd PIREP 2 ¢ &7 ¢ L n?
(e 2 SHfk B st fF 3G ahk 2 firk (O B Hg &2 U

R 4e38550:0012008 420 2% B¢
(CH 14 #i7R RIMCHRT I et @ E31 9, P HUE 24 2%, ot ik ?
(A2 #IFR flight plan™ - B 4ngs, ¥ % -3 & (B)Squawk 7700% = % % VFR
firpim (O &7 51 dordpom cndnh & Fug,

B 4o 3E5: 0012009 482200 322 B 2
(A ) 115 #FR IMCH R 2240 i 352 ok, THLE B o m EH?
(DB KFT F R, mEdpr 7Y F R, SMEA P5 B . (B)7 M0 5 24 2
BB Rt 1000) (C) % 3% st MEAVER B &

B 4-88%55:0012010 45220 3% B %
(C ) 116 {7 f HTCAS advisory wadi & Jisd (%, @ fhaping 377, il iy T
(A) i e g {6 chdum 2 § R, Fléug 1§ radar contact (B)ifitaseg 357 (C) &
TCAS traffica& #2251, = v 4h f%#?r),%v k thing 3F ¥

RATHE 0012011 AE:0 523 -
(0 1 AR B S BT TR F 1627
(D s TaA L4 FF. BXERGFLmEams (OE+ T il L i f
7

Bhe48%5.:0012012 3520 25 B . %
( B ) 118 Precision Approach Path Indicator (PAPI)&rie = % i=?
(DT Fpag, 1#4B %, 3 2,0 2 5%, (B2, 1#4B%, 5 %29 % (0
- g, Hbtiey B d

B4e4250:0012013 20 s &0 5
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(A ) 119 APfERERT < A a 4 chE Cifine R+ ?
(D= L2, B, Jegpimz 2h3 B+ £ 2, M, ez xotd (O~£8, 32
i & b g

B4 k8 50:0012014 3ge:0 % 20 5
(A ) 120 X Alisis > A2 gt WP A 47
MA2 R4 B)g&iFpE (O* <fad @

R AE5: 0012015 460 322 A : 3
(A ) 121 % Al d 24 chf X F Rt 5 e ?
(D7 g4 pin (B & == 3 traffic pattern altitude (C) tef¥ dode &% (7
B, S - R

b 4850:0012016 42%2:0 # % B : %
(B ) 122 = dm 2 =tAs R n < Fn, #F R RILR?
(A) B3 59 2 =0 A RIS cnpuin 15 1 4 (B) R B 3 4% Bde &0k i 2 1 b if
(C) i fde H & oL cv ™

B 4-88%50:0012017 4520 ¥ % & . %
(B ) 123 #g 4577 Hold short of a runway (4 ILS critical area® ), #mf$ & % &?
(DA #HE & hold line (B)#agehs - 3tix 48 & hold line 2 & (C)F 452
hold line T {7

B 442 50:0012018 Age:0 2% & %
(A ) 124 $EFREEH FREAALAL PRI, RITPAE?
(A)feg w58 > e 2 FliciE = gk 4 285 (B) R4FMDAY # w3 3 5o i
w,de A A EATHRREE PARE R T A e (O g L@ VOR/NDB> w, jFiug & - %
p T

R 4e%2550:0012019 2220 222 B %
(A ) 125 % Flifclearance limitp#, & {7 f 4% 2 v F 357
MIEEF a5 3R/28 BIEFRF SFF3 R/ 24, 2D aFedt R (C
NERFR, EFER R/ 2, FHEHER, 2 inbound leg length

B 4-38%50:0012020 4200 £ % B - ¥

(A ) 126 % & * flight director system, & f&udp S HTH RED 5 "H AR NES
F?

(M#fﬁ&.'ﬂi&%&.%ﬁ. % (B)5 f53R, R#A30E, BHl % (OF 1.5
B, RHARRE, FHOLE

4o 88%2:0012021 3520 ¥ % B %
(C ) 127 NDB# &P+ , second leg outboundz 3*pFd= 8 25 @7
(A)Abeam # & 8k, # 2 * outbound#rwe, B~dic % & (B)iL i £ & Bh15 10 AR 2 4 4955 v -
& 4818 (C)Abeam i & 2t

B4 855:0012022 2200 2% R 5
(A ) 128 g tClass Cr & (T2 B M LR 7 K5 @7
(M) g i % # (Two-way communications) (B) g i 2t % % (Two-way
communications)% 34 ¥ % (transponder) (C) 3§ ¥ % (transponder)* P|#E & (DME)
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B4 %8%55:0012023 350 2% B : 5
(A ) 129 Class C airspace#t 4t ® fEPRF%?
(DI Fesa B FEgp( 3 7 VFR& ), % traffic advisories (B) 3|34l ervig
)%(7% z VFR#uy ), #73 s cnlg 8, % traffic advisories (C) 3|34 v R, #7
3 s iR 3t, % traffic advisories

B he8855:0012024 2220 3% R %
(B ) 130 33 & 3% 172 8 (MOA) P ch i ?
(DEFEIBEL sy ? 217 GREE P usde [FRA s (O E
WA H e [FR2  VFR % 4l

Fed852:0012020 450 sk B¢
(CH 131 aFPFEFzdp (MOA), B 77 ¢ #RY
(Mg (B)oeg (OHGEH
B 4e48%2:0012026 %50 35 B 5
(A ) 132 % 3117 simultaneous approachesp® , # {7 f € 78 i ¥ 3| radar advisories?

2

[EX
(M) 5 i (B)approach controlitsg (C)- 2 #3855 ig, ¥ — 2 & approach
control /i g

B4 k855:0012027 %50 2% B 5
(C ) 133 % #g 377 side-step maneuver:&3-pF, {7 f & @ PF B 40 fd side-step?
(A)™ * 2 DHpF (B)MDA# # 38ie 3 (C) P ARFAE BB 1S - (7

4o 82%.:0012028 s .0 2% B 2

(A ) 134 % 3117 simultaneous ILS approaches , ®fafFi=™ {7 g % = & & approach
control?
(DB E R BT B4 22X &apd (B)#r# 7 simultaneous ILS approachps (C)i#x

;%_ga T A IR AP

Fe48%2:0012029 %50 3k B¢
(CH 1 PRAERTHFET LARFEL»BEY [FR flight plan?
(DEwpEl, §RpFP v el 200 B)Erprld, ipdlzidp gy mep

b
(C)VFR conditions , * # & Class A airspace.

B 4e48%2:0012030 %20 345 B 5
(C ) 136 f§ it en&ee 357 "Cleared as filed", I » & ¢ $578 F Y
(A)Clearance limit% %=~ % & (B)Clearance limit, %t 3 B %2 SID (C)P &= %
¥, #yrg R %2 SID

B 448520012031 g0 3ph A3
(A ) 13T PAAFRT HER §ede 3" FREEAR GFF?
(At g Floipd (B)§ 47 "Gate hold" A (C)F B & o jg 3377 pF
48500012032 400 52 R A
(C ) 188 % #ng & A" VERIFY 9, 000", @ 4 fr i 545800072, & {7 A R fv Ak ?
(A)z i $190007= (B)4F & 4g #-fe § 2190007 (C)4F £ #g B 0 (%4580007%
B 4-3E%: 0012033 40 524 R A
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(A ) 139 IFRe#uge P PP g G B R 27
(A)ﬂ? Ty e 3R 4 BREF (B)ARTCCHug 7 455 & Ff3F & gk (OB R & 3F

=, X :r“ e47 gl

o 4e82%.:0012034 s .0 2% B2
(C ) 140 IFR ¥ radar contact, ¥ & %413+ 58 p 2
(MD=¥ %2, BFEF R, £2F FFRAF500{t/min, FIEFHE 8357 BOER 2
AR (B)=g4p4, BEF R, miFFFRAF500ft/min, FEF oGS F v BLapt
B2 3R, % IO 7@:xgREd10e (ORFF R, &2 FiFRdX
500ft/min, Pl F @B FF BEOEERN 2 3R, 2 PR E RN FV B, 2 THE 7
1§ ri%kl@5/.€\‘10

B b 88%5:0012035 4220 5 B 4
( A ) 141 IFR :£3-pF % & radar contact, fﬁ”‘ﬂ‘ B HIE LR ?
(A)#E® FAF inbound £ OM inbound % i 4 :23 (missed approach). (B)#® FAF
inbound , OM inbound# outbound, % i % i3 (missed approach). (C)#gB FAF
inbound , OM inbound# outbound, #%/% # %* inbound% outbound% % P AR§& g

o 4e82%50:0012036 A0 2% B2
(C ) M2 #i7R B sLg 4~ WY o £ 01 © Je 3] ATIS?
(M#R2 2 Jedl#k3: (B)R2 2 e 2 § (C)# £ ATIS Code

B4 48%0:0012037 %E“B-O iR A
(A ) 13 ¥ 3% 5K IFR flight planﬁ%F"’l‘& FOURERE?
(A)# F&K“ETDM 304 48" - IFR flight plan, 7 % *% 0 790 104 s Femgs v+ (B)
# B3 ETDw0 304 48.¢ - IFR flight plan, # 83 (7 % 104 &g fdngtsr 7 (C)7 8t
ETD# 60 4 48 & IFR flight plan, # 8L*% i {7 50 104 455 ?»ﬂmﬁf =

&&;%E%U:OOIZO% e 0 gh RS
(A ) 144 4@ & [FR flight plan# & &4t 57
(») Fs? v g AR B ¢ 5 transitionsejet routes (B)#xit gt ¢ FVORs and
fixesejet routes (C)fftp st © ¢ F£3% $]3F 2 8L jet routes

F4e48%55:0012039 $5%2:0 2% B : 5
(B ) 145 LR B ingt e # R & [FR flight plan/g4rie £ 77
(ADAz4o8E, 2 o | 2 B 4B (B)#73 #4850 radio fixes (C)Az4nBL #73
7B AAL S %432 8heh radio fixes , % B ¥ B

B ACATH0012040 48050 3 A b
(B ) 146 33 STARS A & c7p e @7
(DR VIR 2 PRt (B 40 307 4 it (O 4 bR o Him

4o 82%0:0012041 3520 % B %
(A ) 147 #ug i pF g g8 e ags STAR?
(D Fogmif 6 BEFLELedgz v (OFF 87 R L b ps

B 442 50:0012042 350 £ % R 0@
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(B ) 148 ##wg 3 L5 o 5 BIFRES T P, 7 H BilP el ?
(A3 g Z 3l Fenbnn, B Pling - Hag7 (B4 wind sfbn 787 f (O
TR, £ AR R R e

4o 82%.:0012043 s .0 2% B 2

(C ) 149 % #g 751 2 [FRT fepF &7 A B> ®pFT ' 1 published altitudes?
(D Fufhie = b2 4 ks (B) 4§ Fufdif o e 381050 o2 b (C) 0 19 4
BiesET i

F 4o %8%55:0012044 3520 2% B : 5
(A ) 150 3 %iél%IFR%’Eﬁ%iﬁ BA, PR L G ERAY
(ME F]fE e, 2 3 3 advisory frequency (B)§ ¥ final approach course
(C)Ti%; Y @iﬁ_ﬂd‘?

R heAE5: 0012045 420 #h &5
(B ) 151 % < FIIFR:E&EHF¥ 1 & ¢ #1483 aFSSP, At v dkts, 87 R e g &7
(A) = g4ng o0 traffic advisories # UNICOM (B)= # traffic advisories i 3% 4
=% 2 e (C)F 5P AR (5, £ *SUNICOM A ¢ 47 2 sl chiz % 2 4w

Bhe 35500012046 35200 ¥ b B 3
(B ) 152 &3 B #In3-is e (o, Sus i?
(MDBFEEE > 5 P A, BRI sl s e §4] (B) AT (73 & g
B, ¥R S, B Rl B w (O Ak en (i R atEesE, ¥ aie A
Fis, I H G F IR

B b 88%55:0012047 2220 5 R4
(A ) 153 #{7 f sdo® Rad sg 3% 7 g7 7
(A)",f 7 SIDseh, BT edg TR R, AU, 2 L Eadgn (B)F ¢ B R
FE AT, E R T (O R R T S dp o R R 2 R

B b B8550:0012048 220 5 25
(C ) 154 & FE e B3] &eg B U7 7 7 Foak s B 2" LIFEGUARD" /1 P ¢ f - dl 2 i l?
(A)Aircraft type/special equipment block. (B) Pilot’ s name and Aircraft type.
(C) Pilot’ s name and address block.

B b 32%5:0012049 4g w0 25 R ¥
(C ) 155 & {7 f fs4-fe s i braking action?
(A0, 50% T75%, 100% (B)Zero-zero, fifty-fifty, or normal. (C)Nil, poor,
fair, or good.

F4e82%2:0012050 %50 2% B 2
(B ) 156 # 3} PRM(Precision Runway Monitoring)?
(A)#regl s o, * RS R e BT HE A YN EESET Fa 4l
T8 mxﬁi’%‘ (C)rs PSS E R, ¥ T BB e ik

B 442 52:0012051 850 2% & o ¢
(C ) 157 Kfaf LR, RER PRV EINRLERFT
(D)% e IFRenie 3357 B)F i ~ £ 2F v (OA T LIRIEZ R A
18



B 4-38%50:0012052 A &0 2% B ¢
(C ) 158 Fouf & AbuS i B8 D f AN bulh ik TR, U R R AT
(D% B e EIof & nZid, €7 42 (D)% B E PR 3% A lengad (5, 7
B RS e g (02 il S e

o 4e82%.:0012053 A0 ¥k &P
(C ) 159 & FILSEHPF, PR T - LR I7iF 42 257
(A) teDHPF & 2 i % p ARBa s (B)FIEDHY © iE &3 Wi k7 ik & @3 PR, B2 i
# P AssE %y (C)aDHPF @2 ¥ P AiE®p %Y (visual references), & 2 {2
FNIE e PFRY |2 R4E P AR

o 4e52550:0012004 420 % B¢
(B ) 160 % #ng g sl "NO PT"ehik B shpx, 7 f &7
(DI Ry, e -7 € 3L 7425 # % (procedure turn) (B)7 34 {7 425 # %*
(procedure turn), % o #uldpr (ORGF &5 e A # 4 (procedure
turn)

4o 48%.:0012050 A0 ¥k B %
(A ) 161 ILS# s = % &, &2 P AREAsE, B> P PR (73k 4 18357
(D) &7 g+ 32 DHpF (B)3|E p AR T "% g8pF(visual descent point) (C)F|id i3
Bl HE 7 chik 2 e B

B b 8885:0012056 20 ¥ 5 2 5
(B ) 162 % #vg 5 E51 T unpublished routex 4 ¥%"cleared for approach", #ei j&?
(A)7™ "% ZMVA(minimum vector altitude) (B) ity T B &, 2 P& 2 @H4if )
(C)™ * 7 [AF(initial approach fix)# % &

b 485000012057 4220 ¥ 5 B 5
(C ) 163 § & * ALSF-1 approach light systems i & P 4R 4% pF, @ P &t ™ "% 2 DH 2 MDA~

T o

(A)DH #MDAr4, ™ % ¥ %+ approach light system#|i% % (B)¥ m %% %% approach
light system|ix s (C)¥ ™ #4% %% approach light system, & 7 {F i£3+100%=
(above touchdown zone)

F4e%8%55:0012058 f5e:0 ¥ % B @ P
(B ) 164 % #eg 377 ILSEH1S, Rt w8 A7
(A)T*# 1 procedure turnshg & (B) #4F b tidy T8 &, & FIFE 7] & &5 chdp T
%R (OfRTAET Gy T

B 4e48%55:0012059 250 2% R 5
(C ) 165 % A% 'S 1 & S 3P, R iehX F B L P2
(AIFR# " 3= # £ (B)ETA4c i 1] P, 2 320007, i 23 (O)F ™ &k Bt
Bleris & % 7 128

Fhe%250:0012060 4250 ¥ 5 B : %
(B ) 166 % #ug s F afd v 22 04SP pF, B 17 il ?
(A)= > Read back (B)iH4ng £ (O &< 37

B 442 50:0012061 2ge:0 2% & %
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(B ) 167 %ﬁ*%"# 7 side-step maneuver:&3-pF, # 7 B & ® PF R 4o % side-step?
(A)™ "% 2 TR ¥ 33 & (circling approach)ps (B) P Akpa:p 2 #8518 -3 7 (C)
FI:ZMDAE P ﬁﬁ«&alﬂ (s

F4e82%.:0012062 f5e:0 2% B 2
(B ) 168 i3} #g 4p 7 (ATC instruction)?
(M) Fe #7357 (ATC clearance) (B)#mg af ® ehdp 7, § & Sufl (7 18 Lihed (O
JF = K"read back" @ FEzu2 %

(3

F4ek855:0012063 %20 2% B ;%
(A ) 169 et GPSE Fanik iy, H Foui 4 RAR S ?
(A)RNAV equipped. (B)Astrotracker equipped. (C)FMS/EFIS equipped.

B4 AT%2:0012064 A0 3% B b
(B ) 170 4o 7 4 'H'J‘Emﬁk/?b fs & (7 A= 4, }@F‘Li P s ?
(AT b (B)izfiE s B2 6 (OMf6 4 izt iT 0 Bh, & (fF adaif o) B

R keATH: 0012065 AT 0 $24 A : 4
(C ) 171 IPR% % i f v ¥ 2 4w "Minimm fuel?
(A7 & O IFRE & (B)E & BT 57 (OF i £ @ik 28— # o 38

B b A8 %5:0012066 4220 2% B 5
(C ) 172 "Minimum fuel" $f#wg g & A2
(A)dngs § L ang Bi (B)oudp 3 & Bfﬁ: RITiE b (C)iE— h enad BHE-F 4 i = S en
BX g_‘ i,\?i',
T

R 4e38550:0012067 420 25 B %
(B ) 113 fAERT g § 4 % 2 ¥ 2 (safety alerts)?
(D3 2Tt (B)d g o f e mp (OFBhi 5,78 2 k3
B 4-88%L:0012068 4220 ¥ % B %

(B ) 174 24 transponder codes s i ?
(A)7200 (B)7500 (CHTT17

B 442 50:0012069 g0 s & 5
(C ) 175 # {7 R 4% 739 ¥ ¥ (transponder ) %_iE F¥, i ¥ B v 4 ]2
(A) 0000 3! 1000. (B) 7200 % 7500 ,%>|. (C) 7500, 7600, % 7700 & >1.

B b 8285:0012070 2220 ¥ 5 R 4
(B ) 176 % #3F3 hi® N7 bk wpF, 85 5 € doi®dR?
(A)Light and variable. (B)Wind shear. (C)Frontal passage.

Fhe3250:0012071 2220 2% 2 %
(A ) 17T PRAFREES T 22 5 BEFRGpE?
MDErPEFRFEFIRAZFR RERTRT R EL 1§ % E 7 &g ipL
(C)fag e 4 2 V& el S

4o 82%0:0012072 s :0 2% B2

~

\*1
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(C ) 178 efaap RTraffick ¥ & § AL 52 g7
Mg, s8d 231+ B)rw,hidd +3 2 (OF G, #Fa7H, EbE

Rhe RT3 0012073 48500 ¥ A : 2
(A ) 179 B H 4 Edgenm L AQN 5 RS AD ¥k TR T, # ERGEE RS TP §
2
(AT 1 226817 & B b 5302 ol egedie (B) vt 22041 &0 g 7734 3 51530
b g el FEiesk (C)F 14 2309 1%, B 5 A4k 5t S E S el RAGUE HEE R

4o 82%0:0012074 s .0 2% B2
(C ) 180 T AP H 5 P e PHEETAR § ifdR eni & RIRY
(A)Low-Level Prog Chart. (B)Radar Summary and Weather Depiction Charts. (C)
Terminal Aerodrome Forecast.

B4 k855 :001207H #E 0 2% B 5
(B ) 181 TAF® ¥ ¢ &7 w32 ?
(A)Altocumulus (B)Cumulonimbus (C)Stratocumulus

F4e82%2:0012076 fe 0 ¥k B2
(A ) 182 AP AR B 42 b *7, € 4o B2 580U i ?
Dz @ p” (B > Acfpeg (CH 4o R4
B 4e-RE 5200012077 3.0 2% & : % (R20170815)
(B) I3 HB LT FiE + T FPEFFIE, PARIEFT AL EBELE TR Z A Y

(A)F fi: 34 T B 4 ZTHE R EH S (BE
H 4e TR R FR AR (OF & P
TR RS 7 ik ”19&%%

B 4-88%50:0012078 RE 20 2% A& o %
(C ) 184 Microburst® en™ w5 ¥ &~ 3 1£?
(A) 8,000 ft/min. (B) 7,000 ft/min. (C)6,000 ft/min.

4325500012079 d2e .0 ¥ B o ¢
(C ) 185 #8840kt 8 b, % £ 8 Microburst, <~ b *» ¥ & A2 9
(A) 40 knots. (B)80 knots. (C)90 knots.
F4e%8%55:0012080 350 2% B : 5
(C ) 186 FIEAFFF (2, RITR AT 377, 15280
(DR rFe (B)E4F VFR on top (O &7, E“éiﬁﬁ/%@??ji?%'h?-ﬁ
o 4e3250:0012081 220 2% B %
(C ) 187 #i7R afod ¢ chsds s, Rig * ® a7
D= - R Shrd AT a- FHFF5 - B)ErEe il % B & o
(O g i@ @%&q TR E, X 7P e Fr i R ah?

B 448 50:0012082 g0 5% &0 5
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(A23) CPL&#u¥ 42 A

BT L ATP & - 20180208 5 L ATAEsL - 11905, 11985, 12003.

4o %8%.:0011894 5.0 ¥ % B ¥
(B ) 1 Which is true regarding flight operations in Class A airspace?
(A)Aircraft must be equipped with approved distance measuring equipment (DME)

(B)Must conduct operations under instrument flight rules (C)Aircraft must be
equipped with an approved ATC transponder

4o %8%.:0011895 ka0 ¥ % B ;¥
(B ) 2 Which is true regarding flight operations in Class A airspace?
(A)Aircraft must be equipped with approved distance measuring equipment (DME)

(B)Aircraft must be equipped with an ATC transponder and altitude reporting
equipment (C)Must conduct operations under visual flight rules

4o %8%.:0011896 A2 e .0 ¥ % B . ¥
(B ) 3 Which is true regarding flight operations in Class B airspace?
(A)Flight under VFR is not authorized unless the pilot in command is instrument
rated (B)The pilot must receive an ATC clearance before operating an aircraft
in that area (C)Solo student pilot operation are not authorized

B4 k8550011897 482 :0 ¥ % B o7
(B ) 4 Which is true regarding pilot certification requirements for operations in Class
B airspace?
(A)The pilot in command must hold at least a private pilot certificate with an
instrument rating (B)The pilot in command must hold at least a private pilot
certificate (C)Solo student pilot operation are not authorized

Fo 4 %8%5:0011898 482 :0 % B @7
( A ) 5 What transponder equipment is required for airplane operations in Class B
airspace? A transponder
(A)with 4096 code or Mode S, and Mode C capability (B)with 4096 code capability
1s required except when operating at or below 1000 feet AGL under the terms of
a letter of agreement (C)is required for airplane operations when visibility
1s less than 3 miles

4o R2%.:0011899 A0 ¥g% & .7
(A ) 6 Which is true regarding flight operations in Class B airspace?
(A)Aircraft must be equipped with an ATC transponder and altitude reporting
equipment (B)The pilot in command must hold at least a private pilot certificate
with an instrument rating (C)The pilot in command must hold at least a student
pilot certificate

B 4-38%50:0011900 42200 £ % B - ¢



(B ) 7 What is the maximum indicated airspeed authorized in the airspace underlying
Class B airspace
(A)156 knots (B)200 knots (C)230 knots

R4e38550:0011901 42%2:0 % &2 . ¢
(B ) 8 Unless otherwise authorized or required by ATC, the maximum indicated airspeed
permitted when at or below 2500 feet AGL within 4NM of the primary airport within

Class C or D airspace is
(A)180 knots (B)200 knots (C)230 knots

o 4e%2%.:0011902 A0 2% B .7
(B ) 9 Which is true regarding flight operations to or froma satellite airport, without
an operating control tower, within the Class C airspace area?
(A)Prior to takeoff, a pilot must establish communication with the ATC
controlling facility (B)Aircraft must be equipped with an ATC transponder and
altitude reporting equipment (C)Prior to land, a pilot must establish and
maintain communication with an ATC controlling facility

F4e%2%2:0011903 A2 e .0 ¥ % B o ¥
( A ) 10 Which is true regarding flight operations to or froma satellite airport, without
an operating control; tower, within the Class C airspace area?
(A)Prior to entering that airspace, a pilot must establish and maintain
communication with the ATC serving facility (B)Aircraft must be equipped with
an ATC transponder (C)Prior to takeoff, a pilot must establish communication
with the ATC controlling facility

B4 %8%5:0011904 48 2:0 ¥ % B @7
(B ) 11 At some airport located in Class D airspace where ground visibility is not
reported, takeoffs and landings under special VFR are
(A)not authorized (B)authorized by ATC if the flight visibility is at least 1
SM (C)authorized only if the ground visibility is observed to be at least 3 SM

B b 82%5:0011905 42 2.0 % 2:7  (R20180206)

( A ) 12 When operating an airplane for the purpose of takeoff and landing within Class
D airspace under special VFR, what minimum distance from clouds and what
visibility are required?

(A)Remain clear of clouds, and the ground visibility must be at least 1 SM. (B)500
feet beneath clouds, and the ground visibility must be at least 1 SM. (C)Remain
clear of clouds, and the flight visibility must be at least 1 NM.

B 4-38%50:0011906 A2 :0 £ % & - ¢



(¢ ) 13 Tooperate an airplane under special VFR (SVFR) within Class D airspace at night,
which is required?
(A)The pilot must hold an instrument rating, but the airplane need not be
equipped for instrument flight, as long as the weather will remain at or above
SVFR minimums (B)The Class D airspace must be specifically designated as a night
SVFR area (C)The pilot must hold an instrument rating, and the airplane must
be equipped for instrument flight

B 4e%8%55:0011907 $5 2.0 ¥ % B : P
(B ) 14 What designated airspace associated with an airport becomes inactive when the
control tower at that airport is not in operation?
(A)Class D, which then becomes Class C (B)Class D, which then becomes Class E
(C)Class B

4e42%.:0011908 s :0 ¥ % B : %
( ¢ ) 15 When approaching to land at an airport with an ATC facility, in Class D airspace,
the pilot must establish communications prior to
(A)10 NM, up to and including 3000 feet AGL (B)30 SM, and be transponder equipped
(C)4 NM, up to and including 2500 feet AGL

F4e%2%2:0011909 A2 e .0 ¥ % B ;¥
( C ) 16 When operating an aircraft in the vicinity of an airport with an operating
control tower, in Class E airspace, a pilot must establish communications prior
to
(A)5 NM, up to and including 3000 feet AGL (B)5 NM, up to and including 3000
feet AGL (C)4 NM, up to and including 2500 feet AGL

4o R2%0:0011910 A0 2% & .7
( A ) 17 When approaching to land at an airport without an operating control tower, in
Class G airspace, the pilot should
(A)make all turns to the left, unless otherwise indicated (B)fly a left-hand
traffic pattern at 800 feet AGL (C)enter and fly a traffic pattern at 800 feet
AGL

o 4e%255:0011911 $5%2:0 ¥ % B @7
(B ) 18 Excluding Hawaii, the vertical limits of the Federal Low Altitude airways extend
from
(A)700 feet AGL up to, but not including, 14500 feet MSL (B)1200 feet AGL up
to, but not including, 18000 feet MSL (C)1200 feet AGL up to, but not including,
14500 feet MSL

B4 48%5:0011912 45 %:0 2% B : 5
( A ) 19 Touse VHF/DF facilities for assistance in locating your position, you must have
an operative VHF
(A)transmitter and receiver (B)transmitter and receiver, and an operative ADF
receiver (C)transmitter and receiver, and an operative VOR receiver

B 4485000011913 2gke:1 2% &% (R20130125)
3



(C ) 20 (Figure 1) The pilot generally calls ground control after landing when the
aircraft is completely clear of the runway. this is when the aircraft(4r@
A23_Figl)

(A)passes the red symbol shown at the top of the figure (B)is on the dashed-1line
side of the middle symbol (C)is past the solid-line side of the middle symbol

oW

FIGURE 51.—Airport Signs

F4-AE50:0011914 3gke ] 5% A% (R20130125)

(B ) 21 (Figure 1)The red symbol at the top would most likely be found(4-®A23_Figl)
(AMupon exiting all runways prior to calling ground control (B)at an

intersection where a roadway may be mistaken as a taxiway (C)near the approach
end of ILS runway
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FIGURE 51.—Airport Signs

4o k8%0:0011910 #ae 1 ¥ % 2% (R20130125)
(Cc ) 22 (Figure 1) While clearing an active runway you are most likely clear of the ILS

critical area when you pass which symbol?(4-®A23_Figl)
(A)Top red (B)Middle yellow (C)Bottom yellow

PR

S

FIGURE 51.—Airport Signs

B 4e%8%5:0011916 4541 2% B : % (R20130125)
(A ) 23 (Figure 1)When taxiing up to an active runway, you are likely to be clear of
the ILS critical area when short of which symbol?(4-®A23_Figl)
(A)Bottom yellow (B)Top red (C)Middle yellow
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FIGURE 51.—Airport Signs

Johe A2 50011917 Al ¥k 2% (R20130125)
(A ) 24 (Figure 1)Which symbol does not directly address runway incursion with other
aircraft?(4-m®A23 _Figl)
(A)Top red (B)Middle yellow (C)Bottom yellow

PR

=

FIGURE 51.—Airport Signs

B he%8%55:0011918 45520 3% B : %
(A ) 2 The "taxiway ending" marker
(A)indicates taxiway does not continue (B)identifies area where aircraft are
prohibited (C)provides general taxiing direction to named taxiway

B 4-3850:0011919 A2 =0 £ % B - ¥



(B ) 26 When in the vicinity of a VOR which is being used for navigation on VFR flight,
1t 1s important to
(A)make 90? left and right turns to scan for other traffic (B)exercise sustained
vigilance to avoid aircraft that may be converging on the VOR from other
directions (C)pass the VOR on the right side of the radial to allow room for
aircraft flying in the opposite direction on the same radial

F4e88%.:0011920 %520 ¥ % B : %
(B ) 27 Two aircraft of the same category are approaching an airport for the purpose
of landing. The right-of-way belongs to the aircraft
(A)at the higher altitude (B)at the lower altitude, but the pilot shall not take
advantage of this rule to cut in front of or to overtake the other aircraft
(C)that is more maneuverable, and that aircraft may, with caution, move in front
of or overtake the other aircraft

B b 48%5:0011921 4550 3% B 5
(C ) 28 During a night operation, the pilot of aircraft #1 sees only the green light
of aircraft #2. If the aircraft are converging, which pilot has the right-of-way?
The pilot of aircraft
(A)#2; aircraft #2 is to the left of aircraft #1 (B)#2; aircraft #2 is to the
right of aircraft #1 (C)#1; aircraft #1 is to the right of aircraft #2

4o 82%0:0011922 A0 2% B 2
(A ) 29 A pilot flying a single-engine airplane observes a multiengine airplane
approaching from the left. Which pilot should give way?
(A)The pilot of the multiengine airplane should give way; the single-engine
airplane is to its right (B)The pilot of the single-engine airplane should give
way; the other airplane is to the left (C)Each pilot should alter course to the
right

f4e82%0:0011923 f52:0 2% B %

( A ) 30 An airplane is overtaking a helicopter. Which aircraft has the right-of-way?
(AMHelicopter; the pilot should expect to be passed on the right (B)Airplane;
the airplane pilot should alter course to the left to pass (C)Helicopter; the
pilot should expect to be passed on the left

R4e48%.:0011924 %520 2% B %
( A ) 31 Airplane A is overtaking airplane B. Which airplane has the right-of-way?
(MAirplane B; the pilot should expect to be passed on the right (B)Airplane
A; the pilot should alter course to the right to pass (C)Airplane B; the pilot
should expect to be passed on the left

B b k855:0011925 4820 ¥ % B @7



(B ) 32 Approved flotation gear, readily available to each occupant, is required on each
aircraft if it is being flown for hire over water,
(A)in amphibious aircraft beyond 50 NM from shore (B)beyond power-off gliding
distance from shore (C)more than 50 statute miles from shore

o 4e82%.:0011926 A0 ¥g% B .7
(C ) 33 What are the oxygen requirements when operating at cabin pressure altitudes
above 15, 000 feet MSL?
(A)Oxygen must be available for the flight crew (B)Oxygen is not required at
any altitude in a balloon (C)The flight crew and passengers must be provided
with supplemental oxygen

R4 38550:0011927 4820 225 B : %
( A ) 34 If not equipped with required position lights, an aircraft must terminate flight
(A)at sunset (B)30 minutes after sunset (C)1 hour after sunset

4o 88%.:0011928 2520 ¥ % B %
(C ) 3 Ifanaircraft isnot equipped with an electrical or anti-collision light system,
no person may operate that aircraft
(A)after dark (B)1 hour after sunset (C)after sunset to sunrise

F4e82%0:0011929 A0 2% B 2
( A ) 36 Which is required equipment for powered aircraft during VFR night flights?
(A)Anti-collision light system (B)Gyroscopic direction indicator (C)Gyroscopic
bank-and-pitch indicator

B b 8855:0011930 2220 5 2 %

(B ) 37 Which is required equipment for powered aircraft during VFR night flights?
(A)Flashlight with red lens, if the flight is for hire (B)An electric landing
light, if the flight is for hire (C)Sensitive altimeter adjustable for
barometric pressure

o 4e%2%0:0011931 A0 ¥ % B .7
(B ) 38 What is the minimum flight visibility and proximity to cloud requirements for
VFR flight, at 6,500 feet MSL, in Class C, D, and E airspace?
(A)1 mile visibility; clear of clouds (B)3 miles visibility; 1000 feet above
and 500 feet below (C)b miles visibility; 1000 feet above and 1000 feet below

R4e48%.:0011932 %520 ¥p% B : %
(B ) 39 VFR cruising altitudes are required to be maintained when flying
(A)at 3000 feet or more AGL, based on true course (B)more than 3000 feet AGL,
based on magnetic course (C)at 3000 feet or more above MSL, based on magnetic
heading



4e88%.:0011933 #5e:0 ¥ % B : %
(B ) 40 The minimum flight visibility for VFR flight increases to 5 statute miles
beginning at an altitude of
(A)14500 feet MSL (B)10000 feet MSL if above 1200 feet AGL (C)10000 feet MSL
regardless of height above ground

B he%8%5:0011934 $5%+:0 2% & : ¢  (R20170815)
(C ) 41 Which is true concerning the blue and magenta colors used to depict airports
on Sectional Aeronautical Charts?
(M) Airports with control towers underlying Class A, B, and C airspace are shown
in blue; Class D and E airspace are magenta (B)Airports with control towers
underlying Class C, D and E airspace are shown in magenta (C)Airports with
control towers underlying Class B, C, D and E airspace are shown in blue

B 4-3850:0011935 A2 w0 £ % B - ¢
( ¢ ) 42 When a dashed blue circles surrounds an airport on a sectional aeronautical chart
it will depict the boundary of
(A)Special VFR airspace (B)Class B airspace (C)Class D airspace

F4e%2%.:0011936 A2 .0 ¥ % B ¥
( A ) 43 In the contiguous U.S., excluding the airspace at and below 2500 feet AGL, an
operable coded transponder equipped with Mode C capability is required in all

airspace above
(A)10000 feet MSL (B)12500 feet MSL (C)14500 feet MSL

4o %8%0:0011937 A0 ¥ % B . ¥
(A ) 44 A coded transponder equipped with altitude reporting equipment is required for
(A)Class A, Class B, and Class C airspace areas (B)all airspace of the 48
contiguous U.S. and District of Columbia at and above 10000 feet MSL (including
airspace at and below 2500 feet above the surface) (C)both answer A and B

R4e48%.:0011938 %50 ¥ % B : %
( C ) 45 Except when necessary for takeoff or landing or unless otherwise authorized by
the Administrator, the minimum altitude for IFR flight is
(A)2000 feet over all terrain (B)3000 feet over designated mountainous terrain;
2000 feet over terrain elsewhere (C)2000 feet above the highest obstacle over
designated mountainous terrain; 1000 feet above the highest obstacle over
terrain elsewhere

B 4-3850:0011939 A0 £ % B . ¢



(A ) 46 0On an instrument approach where a DH or MDA is applicable, the pilot may not
operate below, or continue the approach unless the
(A)aircraft is continuously in a position from which a descent to a normal
landing, on the intended runway, can be made (B)approach and runway lights are
distinctly visible to the pilot (C)flight visibility and ceiling are at, or above
the published minimums for that approach

4o %2%.:0011940 A0 2% B .7
(B ) 47 For an airport without an approved instrument approach procedure to be listed
as an alternate airport on an IFR flight plan, the forecasted weather conditions
at the time of arrival must have at least a
(A)ceiling of 2000 feet and visibility 3 SM (B)ceiling and visibility that allows
for a descent, approach, and landing under basic VFR (C)ceiling of 1000 feet
and visibility 3 NM

4o d2%0:0011941 A0 ¥ % B .7
(B ) 48 If weather conditions are such that it is required to designate an alternate
airport on your IFR flight plan, you should plan to carry enough fuel to arrive
at the first airport of intended landing, fly from that airport to the alternate
airport, and fly thereafter for
(A)30 minutes at slow cruising speed (B)45 minutes at normal cruising speed (C)1
hour at normal cruising speed

4o d2%.:0011942 A0 ¥ % B .7
(A ) 49 Does a commercial pilot certificate have a specific expiration date?
(A)No, it is issued without a specific expiration date (B)Yes, it expires at
the end of the 24th month after the month in which it was issued (C)No, but
commercial privileges expire if a flight review is not satisfactorily completed
each 12 months

B b %8%55:0011943 $52:0 #p% B @7
(A ) 50 Apilot in command (PIC) of acivil aircraft may not allow any object to be dropped
from that aircraft in flight
(A)if i1t creates a hazard to persons and property (B)unless the PIC has
permission to drop any object over private property (C)unless reasonable
precautions are taken to avoid injury to property

B b %8%5:0011944 45 2:0 % B ;¥
(B ) 51 The required preflight action relative to weather reports and fuel requirements
1s applicable to
(A)Any flight conducted for compensation or hire (B)Any flight not in the
vicinity of an airport (C)IFR flights only

B b %8%5:0011945 45 2:0 ¥ % B ;¥
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( A ) 52 If an ATC transponder installed in an aircraft has not been tested, inspected,
and found to comply with regulations within a specified period, what is the
limitation on 1ts use?

(A)Its use is not permitted (B)It may be used when in Class G airspace (C)It
may be used for VFR flight only

4o 88%.:0011946 s 2.0 ¥gp% B %
( A ) 53 Pilots are required to have the anti-collision light system operating
(A)during all types of operations, both day and night (B)anytime the pilot is
in the cockpit (C)anytime an engine 1S in operation

B b %8%5:0011947 $8+:0 ¥ % 2% (R20170926)
(C ) 54 Light beacons producing red flashes indicate
(A)end of runway warning at departure end (B)a pilot should remain clear of an
airport traffic pattern and continue circling (C)obstructions or areas
considered hazardous to aerial navigation

B b %855:0011948 $52:0 #p% B @7
( A ) 55 Which is true regarding the use of airborne weather-avoidance radar for the
recognition of certain weather conditions?
(A)The radarscope provides no assurance of avoiding instrument weather
conditions (B)The avoidance of hail is assured when flying between and just clear
of the most intense echoes (C)The clear area between intense echoes indicates
that visual sighting of storms can be maintained when flying between the echoes

B4 k8 50:0011949 g0 s 20 5
(B ) 56 Who i1s responsible for determining if an aircraft is in condition for safe
flight?
(M)A certificated aircraft mechanic (B)The pilot in command (C)The owner or
operator

4o 82%.:0011951 f5e:0 2% B : %

( C ) 57 Before beginning any flight under IFR, the pilot in command must become familiar
with all available information concerning that flight. In addition, the pilot
must
(A)be familiar with all instrument approaches at the destination airport (B)list
an alternate airport on the flight plan, and confirm adequate takeoff and landing
performance at the destination airport (C)be familiar with the runway lengths
at airports of intended use, weather reports, fuel requirements, and
alternatives available, i1f the planned flight cannot be completed

4o 82%0:0011952 %50 2% B %
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( ¢ ) 58 Each required flight crewmember is required to keep his or her shoulder harness
fastened
(A)during takeoff and landing only when passengers are aboard the aircraft
(B)while the crewmembers are at their stations, unless he or she is unable to
perform required duties (C)during takeoff and landing, unless he or she is unable
to perform required duties

4o 82%.:0011953 s :0 2% B %

( A ) 59 After experiencing two-way radio communications failure en route, when should
a pilot begin the descent for the instrument approach?
(A)Upon arrival at any initial approach fix for the instrument approach
procedure but not before the flight plan ETA as amended by ATC. (B)Upon arrival
at the holding fix depicted on the instrument approach proc. at the corrected
ETA, + or - 3 minutes. (C)At the primary initial approach fix for the instrument
approach procedure at the ETA shown on the flight plan or the EFC time, whichever
is later.

R4e48%.:0011954 %50 2% B : %

(B ) 60 Which rule applies to the use of the cockpit voice recorder erasure feature?
(A)A- All recorded information may be erased, except for the last 30 minutes
prior to landing. (B)B- Any information more than 30 minutes old may be erased.
(C)C- All recorded information may be erased, unless the NTSB needs to be
notified of an occurrence.

R4e48%.:0011950 %50 2% B : %
(A ) 61 A cockpit voice recorder must be operated
(A) from the start of the before starting engine checklist to completion of final
checklist upon termination of flight. (B)from the start of the before starting
engine checklist to completion of checklist prior to engine shutdown. (C) when

starting to taxi for takeoff to the engine shutdown checklist after termination
of the flight.

F4e%8%.:0011956 A2 .0 ¥ % B o ¥
(B ) 62 When must an air carrier airplane be DME equipped?
(A)A- In Class E airspace for all IFR or VFR on Top operations. (B)B- Whenever
VOR navigational receivers are required. (C)C- For flights at or above FL 180.

4o R8%0:0011957 A0 ¥ % B . ¥
(C ) 63 When a pilot plans a flight using NDB NAVAIDS, which rule applies?
(A)The airplane must have sufficient fuel to proceed, by means of VOR NAVAIDS,
to a suitable airport and land. (B)The pilot must be able to return to the
departure airport using other navigation radios. (C) The airplane must have
sufficient fuel to proceed, by means of VOR NAVAIDS, to a suitable airport and
complete an instrument approach by use of the remaining airplane radio system.

12
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(A ) 64 If an air carrier airplane is flying IFR using a single ADF navigation receiver
and the ADF equipment fails, the flight must be able to
(A)proceed safely toa suitable airport using VOR aids and complete an instrument
approach by use of the remaining airplane radio system. (B)continue to the
destination airport by means of dead reckoning navigation. (C)proceed to a
suitable airport using VOR aids, complete an instrument approach and land.

4o 82%.:0011959 s 2.0 2% B : %

(C ) 65 If an air carrier airplane’s airborne radar is inoperative and thunderstorms
are forecast along the proposed route of flight, an airplane may be dispatched
only
(A) when able to climb and descend VFR and maintain VFR/OT en route. (B) in VFR
conditions. (C)in day VFR conditions.

F4e%8%55:0011960 45 2:0 #p% B @7
(A ) 66 An air carrier airplane’ s airborne radar must be in satisfactory operating
condition prior to dispatch, if the flight will be
(A)conducted under VFR conditions at night with scattered thunderstorms
reported en route. (B)carrying passengers, but not if it is "all cargo.” (C)C-
conducted IFR, and ATC is able to radar vector the flight around areas of weather.

Fhe3255:0011961 4220 5 &7
(A ) 67 Where isa list maintained for routes that require special navigation equipment?
(A)Air Carrier’ s Operations Specifications. (B)nternational Flight Information
Manual. (C)Airplane Flight Manual.

Fhe%8%55:0011962 $52:0 ¥ % B @7
(B ) 68 What is the advantage of HIRL or MIRL on an IFR runway as compared to a VFR runway?
(A)A- Lights are closer together and easily distinguished from surrounding
lights. (B)B- Amber lights replace white on the last 2,000 feet of runway for
a caution zone. (C)C- Alternate red and white lights replace the white on the
last 3,000 feet of runway for a caution zone.

4o 82%.:0011963 2.0 ¥gp% B %
(B ) 69 What is the advantage of a three-bar VASI?
(A)A-Pilots have a choice of glide angles. (B)B- Anormal glide angle is afforded
both high and low cockpit aircraft. (C)C- The three-bar VASI is much more visible
and can be used at a greater height.

B 4-3850:0011964 3 &0 2% B . ¢
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(B ) 70 A pilot of a high-performance airplane should be aware that flying a
steeper-than-normal VASI glide slope angle may result in
(A)a hard landing. (B) increased landing rollout. (C)landing short of the runway
threshold.

B4 k855:0011965 480 ¥ % B @7
(C ) 71 The higher glide slope of the three-bar VASI is intended for use by
(A) high performance aircraft. (B) helicopters. (C)high cockpit aircraft.

F4e82%.:0011966 A0 2% B 2
( A ) 72 What is the purpose of REIL?
(A)Identification of a runway surrounded by a preponderance of other lighting.
(B) Identification of the touchdown zone to prevent landing short. (C) Establish
visual descent guidance information during an approach.

B4 %8%55:0011967 $5%:0 2% B . 5
( C ) 73 What would be the identification when a VORTAC is undergoing routine maintenance
and is considered unreliable?
(A) A test signal, " TESTING,  is sent every 30 seconds. (B)Identifier is preceded
by "M and an intermittent 'OFF flag would appear. (C)The identifier would be
removed.

4o 82%.:0011968 A0 2% B %
(B ) 74 What DME indications should a pilot observe when directly over a VORTAC site
at 12,000 feet?
(A) 0 DME miles. (B) 2 DME miles. (C)2.3 DME miles.

F4e4850:0011969 4220 2% B . %
( A ) 75 Where does the DME indicator have the greatest error between the ground distance
and displayed distance to the VORTAC?
(A)High altitudes close to the VORTAC. (B) Low altitudes close to the VORTAC.
(C) Low altitudes far from the VORTAC.

B4 X2 50:0011970 g0 s &0 5
(B ) 76 Which pressure is defined as station pressure?

(AM)Altimeter setting. (B) Actual pressure at field elevation. (C) Station
barometric pressure reduced to sea level.

B4 88%0:0011971 f5e:0 $p% B %
( Cc ) 77 What action is necessary when a partial loss of ILS receiver capability occurs
while operating in controlled airspace under IFR?
(A)Continue as cleared and file a written report to the Administrator if
requested. (B)If the aircraft is equipped with other radios suitable for
executing an instrument approach, no further action is necessary. (C)Report the
malfunction immediately to ATC.

442 50:0011972 g0 5% &0 5
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(A ) 718 What action should be taken if one of the two VHF radios fail while IFR in

controlled airspace?
(A)Notify ATC immediately. (B)Squawk 7600. (C)Monitor the VOR receiver.

4o 82%0:0011973 f5e:0 2% B 2
(B ) 79 While flying IFR in controlled airspace, if one of the two VOR receivers fails,
which course of action should the pilot-in-command follow?
(A)A- No call is required if one of the two VOR receivers is operating properly.
(B)B- Advise ATC immediately. (C)C- Notify the dispatcher via company frequency.

B4 %8%55:0011974 3520 2% B . 5
(C ) 80 While flying in controlled airspace under IFR, the ADF fails. What action is
required?
(A)A- Descend below Class A airspace. (B)B- Advise dispatch via company
frequency. (C)C- Notify ATC immediately.

B b B8550:0011975 2220 5 2 %
(A ) 81 When is DME required for an instrument flight?
(A) At or above 24, 000 feet MSL if VOR navigational equipment is required. (B)
In terminal radar service areas. (C)Above 12,500 feet MSL.

o 4e8250:0011976 A0 2% B 2
(A ) 82 Holding position signs have
(A)A- white inscriptions on a red background. (B)B- red inscriptions on a white
background. (C)C- yellow inscriptions on a red background.

4o B2 50:0011977 fe:0 2% B 2
(C ) 8 Airport information signs, used to provide destination or information, have
(A)A- yellow inscriptions on a black background. (B)B- white inscriptions on
a black background. (C)C- black inscriptions on a yellow background.

4o 82%0:0011978 A0 ¥k B %
( A ) 84 Which document specifically authorizes a person to operate an aircraft in a
particular geographic area?
(A)Operations Specifications. (B)Operating Certificate. (C) Dispatch Release.

4o 88%0:0011979 s .0 ¥ % B %
(B ) 85 The emergency lights on a passenger-carrying airplane must be armed or turned
on during
(A)A- taxiing, takeoff, cruise, and landing. (B)B- taxiing, takeoff, and landing
(C)C- takeoff, cruise, and landing.

B4 X2 50:0011980 20 s % & : 5
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(C ) 86 What emergency equipment is required for extended overwater operations?
(A) A portable survival emergency locator transmitter for each liferaft. (B)A
pyrotechnic signaling device for each life preserver. (C) A life preserver
equipped with a survivor locator light, for each person on the airplane.

4o 48%.:0011981 f5e:0 ¥p% B : %
(C ) 87 Life preservers required for overwater operations are stored
(A)A- within easy reach of each passenger. (B)B- under each occupant seat. (C)C-
within easy reach of each seated occupant.

4o 82%50:0011982 A2 :0 2% B %
(C ) 88 An airplane operated by a commercial operator flying over uninhabited terrain
must carry which emergency equipment?
(A) A signal mirror and colored smoke flares. (B) Survival kit for each passenger
(C)An approved survival-type emergency locator transmitter.

4o 88%.:0011983 #5e:0 ¥ % B : %
(C ) 89 A crewmember interphone system is required on which airplane?
(A)A- A large airplane. (B)B- A turbojet airplane. (C)C- An airplane with more
than 19 passenger seats.

4o %2%.:0011984 A5 .0 ¥ % B .7
(A ) 90 For a 2-hour flight in a reciprocating engine-powered airplane at a cabin
pressure altitude of 12,000 feet, how much supplemental oxygen for sustenance
must be provided? Enough oxygen for
(A)30 minutes for 10 percent of the passengers. (B)10 percent of the passengers
for 1.5 hours. (C) each passenger for 30 minutes.

B b 82%5:0011985 42w .0 % 2:7  (R20180206)
(C ) 91 At which cabin altitude must oxygen be provided for all passengers during the

entire flight at those altitudes?
(A)15,000 feet. (B)14,000 feet. (C)13,000 feet.

o 4o88%.:0011986 %522 :0 ¥ % B : %
(B ) 92 An airplane has seats for 149 passengers and eight crewmembers. What is the

minimum number of flight attendants required with 97 passengers aboard?
(A) Four. (B) Three. (C) Two.

4o R8%0:0011987 s .0 ¥ % B : %
(B ) 93 Which document includes descriptions of the required crewmember functions to
be performed in the event of an emergency?
(MAirplane Flight Manual. (B)Certificate holder’s manual. (C) Pilot’s
Emergency Procedures Handbook.

B4 42 50:0011988 A0 s’ & 5

16



(B ) 94 What information must the pilot in command of a supplemental air carrier flight
or commercial operator carry to the destination airport?
(A)Cargo and passenger distribution information. (B)Copy of the flight plan.
(C)Names of all crewmembers and designated pilot in command.

4o 82%0:0011989 A0 2% B %
(C ) 9 Each crewmember shall have readily available for individual use on each flight
a

(A) key to the flight deck door. (B)certificate holder’ s manual. (C) flashlight
1n good working order.

o 4e82%0:0011990 f5e:0 2% B %
(A ) 9 If an engine’ s rotation is stopped in flight, the pilot in command must report
1t, as soon as practicable, to the

(A)A- appropriate ground radio station. (B)B- nearest FAA district office. (C)C-
operations manager (or director of operations).

F4e48%.:0011991 s .0 ¥ % B : %
(B ) 97 What action shall the pilot in command take if it becomes necessary to shut down
one of the two engines on an air carrier airplane?
(A)Land at the airport which the pilot considers to be as safe as the nearest
suitable airport in point of time. (B)Land at the nearest suitable airport in
point of time at which a safe landing can be made. (C)Land at the nearest airport,
including military, that has a crash and rescue unit.

R4e48%.:0011992 %520 2% B %

(B ) 98 The persons jointly responsible for the initiation, continuation, diversion,
and termination of a supplemental air carrier or commercial operator flight are
the
(A)pilot in command and chief pilot. (B) pilot in command and director of
operations. (C)pilot in command and the flight follower.

o 4e82%0:0011993 A0 2% B 2
(A ) 99 If an aircraft dispatcher cannot communicate with the pilot of an air carrier
flight during an emergency, the aircraft dispatcher should
(A)take any action considered necessary under the circumstances. (B) comply with
the company’ s lost aircraft plan. (C)phone the ARTCC where the flight is located
and ask for a phone patch with the flight.

B 4-3850:0011994 A2 =0 £ % B - ¢

( C ) 100 Who is required to submit a written report on a deviation that occurs during
an emergency?
(A)Pilot in command. (B)Dispatcher. (C)Person who declares the emergency.

4o 82%2:0011995 s .0 2% B %
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( A ) 101 By regulation, who shall provide the pilot in command of a domestic or flag air
carrier airplane information concerning weather, and irregularities of
facilities and services?

(A)A- The aircraft dispatcher. (B)B- Air route traffic control center. (C)C-
Director of operations.

R4e48%.:0011996 %520 ¥p% B : %
( B ) 102 Which is a definition of the term ' crewmember’ ?
(A)A- Only a pilot, flight engineer, or flight navigator assigned to duty in
an aircraft during flight time. (B)B- A person assigned to perform duty in an
aircraft during flight time. (C)C- Any person assigned to duty in an aircraft
during flight except a pilot or flight engineer.

R4e48%0:0011997 %50 2% B %
( A ) 103 When may ATC request a detailed report on an emergency even though a rule has
not been violated?
(AMWhen priority has been given. (B) Anytime an emergency occurs. (C)When the
emergency occurs in controlled airspace.

R4e48%.:0011998 f5 .0 2% B : %

( ¢ ) 104 Who must the crew of a domestic or flag air carrier airplane be able to
communicate with, under normal conditions, along the entire route (in either
direction) of flight?

(A)ARINC. (B)Any FSS. (C)Appropriate dispatch office.

R4e38550:0011999 4220 3% B2 o ¢
( B ) 105 How can the pilot increase the rate of turn and decrease the radius at the same
time?
(A)A- Steepen the bank and increase airspeed. (B)B- Steepen the bank and decrease
airspeed. (C)C- Shallow the bank and increase airspeed.

F4e%2%2:0012000 A0 ¥ % B . ¥
( A ) 106 What 1s the relationship of the rate of turn with the radius of turn with a
constant angle of bank but increasing airspeed?
(A)A- Rate will decrease and radius will increase. (B)B- Rate will increase and
radius will decrease. (C)C- Rate and radius will increase.

o 4e82%0:0012001 A0 2% B 2
( A ) 107 What procedure is recommended for an engine-out approach and landing?
(A) The flightpath and procedures should be almost identical to a normal approach
and landing. (B)The altitude and airspeed should be considerably higher than
normal throughout the approach. (C) A normal approach, except do not extend the
landing gear or flaps until over the runway threshold.

o 4e82%2:0012002 s .0 2% B 2
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( B ) 108 What is the resulting performance loss when one engine on a twin-engine fails?
(A)Reduction of cruise airspeed by 50 percent. (B)Reduction of climb by 50
percent or more. (C) Reduction of all performance by 50 percent.

B he%8%5:0012003 42%+:0 ¥ % 2 : % (R20180206)
( A ) 109 Which procedure produces the minimum fuel consumption for a given leg of the
cruise flight?
(A)Increase speed for a headwind. (B)Increase speed for a tailwind. (C)Increase
altitude for a headwind, decrease altitude for a tailwind.

F4e%8%55:0012004 3520 2% B : 5
(B ) 110 If severe turbulence is encountered, which procedure is recommended?
(A)Maintain a constant altitude. (B) Maintain a constant attitude. (C) Maintain
constant airspeed and altitude.

Fhe4250:0012000 420 25 B %
( ¢ ) 111 Assuring that appropriate aeronautical charts are aboard an aircraft is the

responsibility of the
(A) aircraft dispatcher. (B) flight navigator. (C) pilot-in-command.

R 4e48%.:0012006 %520 ¥k B %
( A ) 112 An alternate airport for departure is required
(A)A- if weather conditions are below authorized landing minimums at the
departure airport. (B)B- when the weather forecast at the ETD is for landing
minimums only at the departure airport. (C)C- when destination weather is
marginal VFR (ceiling less than 3,000 feet and visibility less than 5 SM).

R 4e48%.:0012007 f5e .0 2% B %
( A ) 113 Which type of weather can only be directly observed during flight and then
reported in a PIREP?
(A)Turbulence and structural icing. (B)Jetstream-type winds and icing. (C)Level
of the tropopause and turbulence.

F4e%2%.:0012008 A0 ¥ % B¢
(C ) 114 If a pilot is being radar vectored in IFR conditions and loses radio
communications with ATC, what action should be taken?
(A)Fly directly to the next point shown on the IFR flight plan and continue the
flight. (B)Squawk 7700 and climb to VFR on Top. (C)Fly direct to a fix, route,
or airway specified in the vector clearance.

B 442 50:0012009 20 s &0 5
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(A ) 115 Apilot is flying in IFR weather conditions and has two-way radio communications
failure. What altitude should be used?
(A) Last assigned altitude, altitude ATC has advised to expect, or the MEA,
whichever is highest. (B)An altitude that is at least 1,000 feet above the
highest obstacle along the route. (C)A VFR altitude that is above the MEA for
each leg.

o 4e82%2:0012010 %5 2:0 2% B : %
( ¢ ) 116 Each pilot, who deviates from an ATC clearance in response to a TCAS advisory,
1s expected to notify ATC and
(A) maintain the course and altitude resulting from the deviation, as ATC has
radar contact. (B) request a new ATC clearance. (C)expeditiously return to the
ATC clearance in effect prior to the advisory, after the conflict is resolved.

4o 82%0:0012011 382:0 3% B : %
( ¢ ) 117 Information obtained from flight data and cockpit voice recorders shall be used
only for determining
(A)who was responsible for any accident or incident. (B)evidence for use incivil
penalty or certificate action. (C)possible causes of accidents or incidents.

f4e48%.:0012012 2.0 ¥ % B %
( B ) 118 What does the Precision Approach Path Indicator (PAPI) consist of?
(A)Row of four lights parallel to the runway; red, white, and green. (B)Row of
four lights perpendicular to the runway; red and white. (C) One light projector
with two colors; red and white.

4o 42%.:0012013 2520 ¥ % B %
( A ) 119 Which flight conditions of a large jet airplane create the most severe flight
hazard by generating wingtip vortices of the greatest strength?
(A)Heavy, slow, gear and flaps up. (B)Heavy, slow, gear and flaps down. (C) Heavy
fast, gear and flaps down.

R4e48%.:0012014 %520 2% B %
( A ) 120 Hazardous vortex turbulence that might be encountered behind large aircraft is
created only when that aircraft is
(A)developing lift. (B) operating at high airspeeds. (C) using high power
settings.

4o 82%2:0012010 A0 2% B 2
( A ) 121 Wingtip vortices created by large aircraft tend to
(A)sink below the aircraft generating the turbulence. (B) rise from the surface
to traffic pattern altitude. (C)accumulate and remain for a period of time at
the point where the takeoff roll began.

F4e82%2:0012016 3520 2% B %
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( B ) 122 To avoid the wingtip vortices of a departing jet airplane during takeoff, the
pilot should
(A) 1ift off at a point well past the jet airplane’ s flightpath. (B)climb above
and stay upwind of the jet airplane’ s flightpath. (C) remain below the flightpath
of the jet airplane.

R4e48%.:0012017 %820 2% B %
( B ) 123 When instructed by ATC to 'Hold short of a runway (ILS critical area, etc.),’
the pilot should stop
(A)with the nose gear on the hold line. (B) so that no part of the aircraft extends
beyond the hold line. (C) so the flight deck area of the aircraft is even with
the hold line.

f4e82%50:0012018 A0 2% B 2
( A ) 124 If visual reference is lost while circling to land from an instrument approach,
what action(s) should the pilot take?
(A)Make a climbing turn toward the landing runway until established on the missed
approach course. (B)Turn toward the landing runway maintaining MDA, and if
visual reference is not regained, perform missed approach. (C)Make a climbing
turn toward the VOR/NDB, and request further instructions.

R4e48%.:0012019 %520 2% B : %

( A ) 125 What report should the pilot make at a clearance limit?
(A)Time and altitude/flight level arriving or leaving. (B)Time, altitude/flight
level, and expected holding speed. (C)Time, altitude/flight level, expected
holding speed, and inbound leg length.

F4o%2%2:0012020 A2 .0 ¥ % B o ¥
( A ) 126 When using a flight director system, what rate of turn or bank angle should a
pilot observe during turns in a holding pattern?
(A)3° per second or 25° bank, whichever is less. (B)3° per second or 30° bank,
whichever is less. (C)1-1/2° per second or 25° bank, whichever is less.

F4e82%0:0012021 A0 2% B2
( ¢ ) 127 When holding at an NDB, at what point should the timing begin for the second
leg outbound?
(A)Abeam the holding fix or when the wings are level after completing the turn
to the outbound heading, whichever occurs first. (B)At the end of a 1-minute
standard rate turn after station passage. (C)When abeam the holding fix.

B b B2550:0012022 220 ¥ 5 2 5
( A ) 128 What minimum aircraft equipment is required for operation within Class C
airspace?
(A)Two-way communications. (B)Two-way communications and transponder.
(C)Transponder % DME.
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4e48%.:0012023 f5e:0 ¥k B %

( A ) 129 What services are provided for aircraft operating within Class C airspace?
(A)Sequencing of arriving aircraft, separation of aircraft (except between VFR
aircraft), and traffic advisories. (B)Sequencing of arriving aircraft (except
VFR aircraft), separation between all aircraft, and traffic advisories.
(C)Sequencing of all arriving aircraft, separation between all aircraft, and
traffic advisories.

4o 88%2:0012024 3520 % B %
( B ) 130 What is the purpose of MOAs?
(A)To protect military aircraft operations from civil aircraft. (B)To separate

military training activities from IFR traffic. (C)To separate military training
activities from both IFR and VFR traffic.

B b %8%5:0012025 4220 ¥ % B : ¥
( ¢ ) 131 Who 1s responsible for collision avoidance in an MOA?
(A)Military controllers. (B)ATC controllers. (C)Each pilot.

o 4e82%50:0012026 A0 2% B 2
( A ) 132 When simultaneous approaches are in progress, how does each pilot receive radar
advisories?
(A)On tower frequency. (B)On approach control frequency. (C)One pilot on tower
frequency and the other on approach control frequency.

B 442 50:0012027 g0 5% R0 5

( C ) 133 When cleared to execute a published side-step maneuver, at what point is the
pilot expected to commence this maneuver?
(A)At the published DH. (B)At the MDA published or a circling approach. (C)As
soon as possible after the runway environment is in sight.

4o 48%.:0012028 s 2.0 ¥k B %
( A ) 134 When simultaneous ILS approaches are in progress, which of the following should
approach control be advised of immediately?
(A)Any inoperative or malfunctioning aircraft receivers. (B) If a simultaneous
ILS approach is desired. (C)If radar monitoring is desired to confirm lateral
separation.

o 4e%2%.:0012029 A0 ¥ % B ¥
( ¢ ) 135 Under what condition may a pilot cancel an IFR flight plan prior to completing
the flight?
(A) Anytime it appears the clearance will cause a deviation from FARs. (B)Anytime
within controlled airspace by contacting ARTCC. (C)Only if in VFR conditions
in other than Class A airspace.

B 448 50:0012030 20 s &0 5
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( ¢ ) 136 What minimum information does an abbreviated departure clearance ’cleared as
filed” include?
(A)Clearance limit and en route altitude. (B)Clearance limit, en route altitude,
and SID, if appropriate. (C)Destination airport, en route altitude, and SID,
1f appropriate.

F4e42%.:0012031 f5e:0 ¥k B %
( A ) 137 Under what condition does a pilot receive a ’"void time’ specified in the
clearance?
(A)On an uncontrolled airport. (B)When ’gate hold’ procedures are in effect.
(C)If the clearance is received prior to starting engines.

R 4e48%.:0012032 %520 2% B %
( ¢ ) 138 What action should a pilot take if asked by ARTCC to * VERIFY 9, 000" and the flight
1s actually maintaining 8, 0007
(A)Immediately climb to 9, 000. (B)Report climbing to 9, 000. (C)Report
maintaining 8§, 000.

F4e%855:0012033 f5e:0 % B : 5
( A ) 139 Where are position reports required on an IFR flight on airways or routes?
(A)Over all designated compulsory reporting points. (B)Only where specifically
requested by ARTCC. (C)When requested to change altitude or advise of weather
conditions.

o 4e82%50:0012034 fe:0 ¥k B2
( ¢ ) 140 Which reports are required when operating IFR in radar environment?

(A)Position reports, vacating an altitude, unable to climb 500 ft/min, and time
and altitude reaching a holding fix or point to which cleared. (B)Position
reports, vacating an altitude, unable to climb 500 ft/min, time and altitude
reaching a holding fix or point to which cleared, average TAS exceeding 5 percent
or 10 knots. (C)Vacating an altitude, unable to climb 500 ft/min, time and
altitude reaching a holding fix or point to which cleared, a change in average
TAS exceeding b percent or 10 knots, and leaving any assigned holding fix or
point.

F4e48%.:0012030 A0 ¥k B %
( A ) 141 Which reports are always required when on an IFR approach not in radar contact?
(A)Leaving FAF inbound or outer marker inbound and missed approach. (B)Leaving
FAF 1inbound, leaving outer marker inbound or outbound, and missed approach.
(C)Leaving FAF inbound, leaving outer marker inbound or outbound, procedure turn
outbound and inbound, and visual contact with the runway.

F4e82%2:0012036 f5e:0 ¥k B2
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( ¢ ) 142 Pilots should notify controllers on initial contact that they have received the
ATIS broadcast by?
(A) stating 'Have Numbers'. (B)stating ’Have Weather’. (C)repeating the
alphabetical code word appended to the broadcast.

o 4e8250:0012037 A0 ¥k B2
( A ) 143 What is the suggested time interval for filing and requesting an IFR flight plan?
(A)File at least 30 minutes prior to departure and request the clearance not
more than 10 minutes prior to taxi. (B)File at least 30 minutes prior to departure
and request the clearance at least 10 minutes prior to taxi. (C)File at least
1 hour prior to departure and request the clearance at least 10 minutes prior
to taxi.

4o 48%.:0012038 s .0 ¥k B %
( A ) 144 How should the route of flight be defined on an IFR flight plan?
(M)A simplified route via airways or jet routes with transitions. (B)A route
via airways or jet routes with VORs and fixes used. (C)A route via airways or
jet routes with only the compulsory reporting points.

R4e48%.:0012039 %520 2% B %

( B ) 145 How should an off-airway direct flight be defined on an IFR flight plan?
(A)The initial fix, the true course, and the final fix. (B)All radio fixes over
which the flight will pass. (C)The initial fix, all radio fixes which the pilot
wishes to be compulsory reporting points, and the final fix.

o 4e82%0:0012040 5.0 2% B 2
( B ) 146 What is the primary purpose of a STAR?
(A)Provide separation between IFR and VFR traffic. (B)Simplify clearance
delivery procedures. (C)Decrease traffic congestion at certain airports.

4o 88%2:0012041 3520 % B %
( A ) 147 When does ATC issue a STAR?
(A)Only when ATC deems it appropriate. (B) Only tohigh priority flights. (C)Only
upon request of the pilot.

4o %8%.:0012042 A0 ¥ % B ¥
( B ) 148 What action(s) should a pilot take if vectored across the final approach course
during an IFR approach?
(A)Continue on the last heading issued until otherwise instructed. (B)Contact
approach control, and advise that the flight is crossing the final approach
course. (C)Turn onto final, and broadcast in the blind that the flight has
proceeded on final.

B 442 50:0012043 350 s &0 5
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( ¢ ) 149 While being vectored to the final approach course of an IFR approach, when may
the pilot descend to published altitudes?
(A)Anytime the flight is on a published leg of an approach chart. (B)When the
flight is within the 10-mile ring of a published approach. (C)Only when approach
control clears the flight for the approach.

f4e48%.:0012044 s 2.0 ¥k B %
( A ) 150 When is radar service terminated while vectored for an IFR approach at an
uncontrolled airport?
(A)Only upon landing or advised to change to advisory frequency. (B)When aligned
on the final approach course. (C)When cleared for the approach.

R4e48%.:0012045 f5e .0 ¥k B %

( B ) 151 When cleared for an IFR approach to an uncontrolled airport with no FSS, what
precaution should the pilot take after being advised to change to advisory
frequency?

(A) Monitor ATC for traffic advisories as well as UNICOM. (B)Broadcast position
and intentions on the Common Traffic Advisory Frequency and monitor the
frequency. (C)Wait until visual contact is made with the airport and then
broadcast position and intentions to land on UNICOM.

4o 82%.:0012046 s 2.0 2% B 2
( B ) 152.What action is expected of an aircraft upon landing at a controlled airport?
(A)Continue taxiing in the landing direction until advised by the tower to switch
to ground control frequency. (B)Exit the runway at the nearest suitable taxiway
and remain on tower frequency until instructed otherwise. (C) Exit the runway
at the nearest suitable taxiway and switch to ground control upon crossing the
taxiway holding lines.

4o 88%.:0012047 f5e .0 ¥k B2
( A ) 153 What is the pilot’s responsibility for clearance or instruction readback?
(A)Except for SIDs, read back altitude assignments, altitude restrictions, and
vectors. (B)If the clearance or instruction is understood, an acknowledgment
is sufficient. (C)Read back the entire clearance or instruction to confirm the
message 1s understood.

4o 88%.:0012048 s .0 ¥k B %

( C ) 154 To assure expeditious handling of a civilian air ambulance flight, the word
"LIFEGUARD’ should be entered in which section of the flight plan?
(A)Aircraft type/special equipment block. (B) Pilot’ s name and Aircraft type.
(C) Pilot’ s name and address block.

B4 %855:0012049 $5 2.0 ¥ % B : P
( ¢ ) 155 How should a pilot describe braking action?
(A)00 percent, 50 percent, 75 percent, or 100 percent. (B)Zero-zero, fifty-fifty
or normal. (C)Nil, poor, fair, or good.
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F4e%8%55:0012050 45520 2% B : 5
( B ) 156 Precision Runway Monitoring (PRM) is
(A) an airborne radar system for monitoring approaches to two runways. (B) a
radar system for monitoring approaches to closely spaced parallel runways. (C)a
high update rate radar system for monitoring multiple aircraft to a single
runway.

B4 %8%5:0012051 4220 ¥4 B : ¥
( ¢ ) 157 Except during an emergency, when can a pilot expect landing priority?
(AM)When cleared for an IFR approach. (B)When piloting a large, heavy aircraft.
(C)In turn, on a first-come, first-serve basis.

F4e%8%.:0012052 A0 ¥ % B o7
( ¢ ) 158 If ATC requests a speed adjustment that is not within the operating limits of
the aircraft, what action must the pilot take?
(A)Maintain an airspeed within the operating limitations as close to the
requested speed as possible. (B)Attempt to use the requested speed as long as
possible, then request a reasonable airspeed from ATC. (C)Advise ATC of the
airspeed that will be used.

4o %8%0:00120503 A0 ¥ % B ¥
( ¢ ) 159 When must the pilot initiate a missed approach procedure from an ILS approach?
(A)At the DH when the runway is not clearly visible. (B)When the time has expired
after reaching the DH and the runway environment is not clearly visible. (C)At
the DH, if the visual references for the intended runway are not distinctly
visible or anytime thereafter that visual reference is lost.

B4 %8%5:0012054 4220 ¥ % B : ¥
( B ) 160 If being radar vectored to the final approach course of a published instrument
approach that specifies 'NO PT,” the pilot should
(A) advise ATC that a procedure turn will not be executed. (B) not execute the
procedure turn unless specifically cleared to do so by ATC. (C)execute a
holding-pattern type procedure turn.

R 4e48%.:0012000 %5 e .0 ¥k B %
( A ) 161 Assuming that all ILS components are operating and the required visual
references are not acquired, the missed approach should be initiated upon
(A) arrival at the DH on the glide slope. (B) arrival at the visual descent point.
(C)expiration of the time listed on the approach chart for missed approach.

B 442 50:0012056 20 ¥ & 5
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( B ) 162 What action should be taken when a pilot is "cleared for approach’ while being
radar vectored on an unpublished route?
(A)Descend to minimum vector altitude. (B)Remain at last assigned altitude until
established on a published route segment. (C)Descend to initial approach fix
altitude.

4o R8%0:0012057 A0 ¥k B2

( ¢ ) 163 Under which condition, if any, may a pilot descend below DH or MDA when using
the ALSF-1 approach li1ght system as the primary visual reference for the intended
runway?
(A)Under no condition can the approach light system serve as a necessary visual
reference for descent below DH or MDA. (B)Descent to the intended runway is
authorized as long as any portion of the approach l1ight system can be seen. (C)The
approach light system can be used as a visual reference, except that descent
below 100 feet above TDZE requires that the red light bars be visible and
identifiable.

F4e%255:0012058 f2e:0 ¥ % B @ P
(B ) 164 What altitude is a pilot authorized to fly when cleared for an ILS approach?
The pilot
(A) may begin a descent to the procedure turn altitude. (B)must maintain the
last assigned altitude until established on a published route or segment of the
approach . (C)may descend from the assigned altitude only when established on
the final approach course.

R 4e48%.:0012009 %50 ¥k B %
( ¢ ) 165 When proceeding to the alternate airport, which minimums apply?
(A)The IFR alternate minimums (B)2000-3 for at least 1 hour before until 1 hour
after the ETA. (C)The actual minimums shown on the IAP chart for the airport.

F4e82%2:0012060 5520 2% B 2
( B ) 166 What action should a pilot take when a clearance is received from ATC that appears
to be contrary to a regulation?
(A)Read the clearance back in its entirety. (B) Request a clarification from
ATC. (C)Do not accept the clearance.

F4e82%.:0012061 A0 2% B2
( B ) 167 When cleared to execute a published side-step maneuver for a specific approach
and landing on the parallel runway, at what point is the pilot expected to
commence this maneuver?
(A)At the published minimum altitude for a circling approach. (B)As soon as
possible after the runway or runway environment is in sight. (C)At the localizer
MDA minimums and when the runway is in sight.

F4e82%.:0012062 d5e:0 2% B 2

27



(B ) 168 An ATC " instruction’
(A) is the same as an ATC ’clearance.’” (B) is a directive issued by ATC for the
purpose of requiring a pilot to take a specific action. (C)must be ’read back’
in full to the controller and confirmed before becoming effective.

F4o48%2:0012063 %220 ¥ % B %
( A ) 169 Aircraft navigating by GPS are considered, on the flight plan, to be
(ADRNAV equipped. (B)Astrotracker equipped. (C)FMS/EFIS equipped.

4o 82%.:0012064 5520 2% B2
( B ) 170 If you take off behind a heavy jet that has just landed, you should plan to lift
of f
(A)prior to the point where the jet touched down. (B)beyond the point where the
jet touched down. (C)at the point where the jet touched down and on the upwind
edge of the runway.

o 4e88%.:0012060 A0 ¥k B %

( ¢ ) 171 Under what condition should a pilot on IFR advise ATC of minimum fuel status?
(A)When the fuel supply becomes less than that required for IFR. (B)If the
remaining fuel suggests a need for traffic or landing priority. (C)If the
remaining fuel precludes any undue delay.

F4o82%2:0012066 5520 2% B 2
( ¢ ) 172 What does the term 'minimum fuel’ imply to ATC?
(M) Traffic priority is needed to the destination airport. (B)Emergency handling
is required to the nearest suitable airport. (C)Advisory that indicates an
emergency situation is possible should an undue delay occur.
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( B ) 173 Under what condition does ATC issue safety alerts?
(A) When collision with another aircraft is imminent. (B) If the aircraft
altitude 1s noted to be in close proximity to the surface or an obstacle. (C)When
weather conditions are extreme and wind shear or large hail is in the vicinity.
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(B ) 174 What is the hijack code?
(A)7200 (B)T500 (C)TTT7
o 4e52550:0012069 220 2% B %
( ¢ ) 175 Which range of codes should a pilot avoid switching through when changing

transponder codes?
(A) 0000 through 1000. (B) 7200 and 7500 series. (C) 7500, 7600, and 7700 series.
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( B ) 176 What airport condition is reported by the tower when more than one wind condition
at different positions on the airport is reported?
(A)Light and variable. (B)Wind shear. (C)Frontal passage.
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( A ) 177 What minimum condition is suggested for declaring an emergency?
(A)Anytime the pilot is doubtful of a condition that could adversely affect
flight safety. (B)When fuel endurance or weather will require an en route or
landing priority. (C)When distress conditions such as fire, mechanical failure,
or structural damage occurs.
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( ¢ ) 178 Which observed target aircraft would be of most concern with respect to collision
avoidance?
(A)One which appears to be ahead and moving from left to right at high speed.
(B)One which appears to be ahead and moving from right to left at slow speed.
(C)One which appears to be ahead with no lateral or vertical movement and is
increasing in size.
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( A ) 179 Information recorded during normal operation of a cockpit voice recorder in a
large pressurized airplane with four reciprocating engines
(A)may all be erased or otherwise obliterated except for the last 30 minutes.
(B) may be erased or otherwise obliterated except for the last 30 minutes prior
to landing. (C)C- may all be erased, as the voice recorder is not required on
an aircraft with reciprocating engines.
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( ¢ ) 180 Which primary source contains information regarding the expected weather at the
destination airport, at the ETA?
(A)Low-Level Prog Chart. (B)Radar Summary and Weather Depiction Charts. (C)
Terminal Aerodrome Forecast.
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( B ) 181 Which are the only cloud types forecast in the Terminal Aerodrome Forecast?
(A)Altocumulus (B)Cumulonimbus (C)Stratocumulus
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( A ) 182 Which airplane performance characteristics should be recognized during takeof f
when encountering a tailwind shear that increases in intensity?
(A) Loss of, or diminished, airspeed performance. (B)Decreased takeoff distance
(C)Increased climb performance immediately after takeoff.
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( B ) 183 Thrust is being managed to maintain desired indicated airspeed and the glide
slope is being flown. Which characteristics should be observed when a tailwind
shears to a constant headwind?

(A)PITCH ATTITUDE: Increases. VERTICAL SPEED: Increases. INDICATED AIRSPEED:
Decreases, then increases to approach speed. (B) PITCH ATTITUDE: Increases.
VERTICAL SPEED: Decreases. INDICATED AIRSPEED: Increases, then decreases.
(C)PITCH ATTITUDE: Decreases. VERTICAL SPEED: Decreases. INDICATED AIRSPEED:
Decreases, then increases to approach speed.
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( ¢ ) 184 Maximum downdrafts in a microburst encounter may be as strong as
(A) 8,000 ft/min. (B) 7,000 ft/min. (C)6,000 ft/min.
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( C ) 18 An aircraft that encounters a headwind of 45 knots, within a microburst, may

expect a total shear across the microburst of
(A) 40 knots. (B)80 knots. (C)90 knots.
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( ¢ ) 186 After an ATC clearance has been obtained, a pilot may not deviate from that
clearance, unless the pilot ?
(A)request an amended clearance (B)is operating VFR on top (C)request an amended
clearance or has an emergency
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( ¢ ) 187 To scan properly for traffic, a pilot should?
(A)slowly sweep the field of vision from one side to the other side at intervals
(B)concerntrate on any peripheral movement detected (C)use a serious of short,
regular spaced eye movements that bring successive area of the sky into the
central visual field
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( ¢ ) 188 When planning for an emergency landing at night, one of the primary consideration
should include?
(A)landind without flaps to ensure a nose-high landing attitude at touch down
(B)turning off all electrical switches to save battery power for landing
(C)selecting a landing area close to public access, if possible
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